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Second Semester Online Examination, May-June, 2022

M.A.ECONOMICS

Paper 111

RESEARCH METHODOLOGY & APPLICATIONS
Time : Three Hours | [Maximum Marks : 80
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Note : Part A and B of each question in each unit consist
of ‘very short answer type questions’ which are
to be answered in one or two sentences. Part C
‘Short answer type’ and D ‘Long answer type’
of each question should be answered within the
word limit mentioned.

ZehTe-1/UNIT-I

1. (A) WS STTHM &1 37¢f JarET | 2
What is statistical Investigation.
P.T.O.

(B)

©)

(D)
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Ttk o 9 1 ANE E ? 2

What is the meaning of primary data.

GifeTsd STEEE & Y@ o0 -5 A
€2
What are the main stages of statistical
inquiry ?

(word limit 200-250) 4

AIAT/OR

fEdiiIeh THI & Y@ Ed hH-Y § 2 AT
IS |

What are the main sources of secondary
data ? Discuss.

‘ STy gfafeRi W Tk oy frey fafe )
Write a small essay on ‘Research methods’.

(word limit 400-450) 12

AYAT/OR

T % Y@ ThRI I UM hHiTIT |
Exlain the main types of Research.
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BehT3-11/UNIT-1I

2. (A) frev srgum fafy § o9 o a9e § 2 2

(B)

(©)

(D)

What do you mean by sampling method of
inquiry ?

39 yfeera w R a1 2 2
What is meant by Random sample ?
TIUAT 9 Yfieel STTHEMI ol ST<R aarsy |
Distinguish between a census and a sample
inquiry. (word limit 200-250) 4

AUAT/OR

fTeet =1 Tevasar g faguash & o=
i |

Explain the necessity and characteristics
of sampling.

freeia =t 21fared sTaumonsd &1 99 ST
T4 fesiE & fEeH ol TuEET |

Describe the essential concepts of sampling
and explain planning of sampling.

(word limit 400-450) 12
[3] P.T.O.

3. (A)

(B)

©)
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TAATOR
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Describe merits demerits of sampling and
explain advantages and disadvantages of
random sampling.

BeRTS-1T1/UNIT-II

TN ! IR hifsTy | 2
Define Tabulation.
GHreRl TE eSS0t H <R ARyl 2

Write the difference between inclusive
series and exclusive series.

IR0l & 1Al a1 fag=m shifs |
Explain the functions of classification.

(word limit 200-250) 4
3AAT/OR

TRUIFA 1 Hecd dared |

What is the importance of Tabulation.
[4]
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(D) T& difcdep & fafa= 9F T@ GRI &l

4. (A)

(B)

©)

HHARU |
State the various parts and types of table.
(word limit 400-450) 12

AIAT/OR

HHehi S TR0 T STHR T & ? Teh AT
T h 0T h STEYTh deall ohl THEET |

What 1s the basis of classification of
data ? Explain the characteristics of an
1deal classification.

RTS-IV/UNIT-IV

S UReheTT & I W ¥ 2 2
What is null hypothesis.
e 3R Yfdes= § = T Shifsw | 2

Distinguish between ‘Parameter’ and
‘Statistic’.

TReheTT ki STATET 997 YRRl hil THEATST |
Explain the types and utility of hypothesis.

(word limit 200-250) 4
[5] P.T.O.

(D)
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AYAT/OR

IReheu T & ‘Sl-3a’ TS ' Weh-cd ' T&T01 =1

g 2 Tl g geemsT |

What are ‘two tail’ and ‘one tail’ tests of

hypothesis. Explain with diagrams.

= TaiEll <ieh T & TN & SAlehs

YR §—

T w1 | T=ESH R | AM

quTe TYTa Tl

FhT SET T 24 52 76
Jdhr T oemmEn| 32 12 44
e

I 56 64 120

=eh {1 H 3T @ i STARTAT i ST
HITTT |

In an experiment of vaccination against
small box the following results were

obtained :

[6]
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Attack | Unattacted | Total
by
small
pox
Vaccinated 24 52 76
Non 32 12 44
Vaccinated
Total 56 65 120

Examine the utility of vaccination in
controlling small pox.

(word limit 400-450) 12
AYAT/OR

Th THS o 15 ©dl § § ThR & @] Hl
YA o =, 9t o Wi Su (foeed
H) 14 ghR T—

Yla-1 Yla-11
14 31
20 18
34 22
48 28
32 40
42 26
30 45
44
[7] P.T.O.
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Sl YohR & ©1E 1 TN Hid T STeh! HILT
SUST h 3T hl TIfehdl hi T&TT hifSTT |

Two kinds of manure applied to 15 plots of

one acre each; other condition remaining
the same. The yields (in quintals) are given

below :
Manure-I Manure-I1

14 31
20 18
34 22
48 28
32 40
42 26
30 45
44

Examine the significance of the difference
between the mean yields due to the
application of different kinds of manure.
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